ITI Instrument Mechanic 2nd Year Module 3 Pressure instrument
installation and servicing

(1). Why is mercury a preferred material over water in barometers? | 3i|ﬂla< H

O &1 ga-T H URT U6 Uedial gard &1 g2
(A) Because of its heat conductivity | WWW%W

(B) Because it has higher density and lower vapour pressure | Wgﬂﬁm
31 T AT S8 HH I @

(C) Because of better bulk modules | SIGCR dedh Hqu\m & HR]
(D) Because of its colour | WT‘TﬁW@

Correct Answer : B

(2). What type of result will be available for the bellows element used as a
receiver for 3 to 15 psi pneumatic signal by error a 30 psi pressure is applied to it?

| 39 15 psi gACH RTd & fore RfiaR & =9 H STt fort T aTat 9
TferHe TR TTeTell U 30 psi GaTd AR 81 IR fhd UDHR BT URUMTH SucTsy ERIT?

(A) A damaged bellows | Tdh &ri%mwéﬁatr

(B) An instrument in need of recalibration | wmﬁ@w@mﬁ
3{TaRGH AT Il §

(C) No damage | &ffcod gl
(D) A severe zero shift | wmﬂwqu

Correct Answer : C

(3). Where the drain plugs fitted in gas filled line? | ﬁﬂ W NIER! H \%"I T &l
HE! AT STl 62



(A) Low points | <l Oigc

(B) Mid points | frg Ulge
(C) High points | BT8 Ulg¢
(D) Break points | S Ulsc

Correct Answer : A

(4). Which pressure measurement device has its construction where in, a hollow
metal tube is bent like a hook and the end is closed connected to dial indicator? |

fore IR AoRd e feargy &t e gkt §, Ford T giell Hed ogd &I g &1
e His fear omar g 3k RR 1 S1ad f3dher A s & o fear Srdr g?

(A) Bourdon tube | a%a;d
(B) Manometer | ﬁﬁ?ﬂa
(C) Barometer | éﬁ?ﬂa

(D) Pirani gauge | IERGIRIS

Correct Answer : A

(5). The line containing process fluid that run between the instrument and the

process is called... | 3D 3R Ufehar & o= I arelt ufchan ga Y@
] N CIRSIGI

(A) static line | @’W?ﬂ?‘f

(B) dynamic line | SAHHD NIER!
(C) impulse line | g'qFHFII%:I
(D) pressure line | USR NIES!

Correct Answer : C



(6). How many distinct operations involved in complete maintenance of pressure
transmitter? | GETd CIAHIC & JUT I@RWTG H fohcd= 31eT-STT SRR MAd
g?

(A) 1

(B) 2

(C) 3

(D) 4

Correct Answer : C

(7). What will be the pizeometric head in a static fluid? | @ﬁmaaﬁ

fOferamics g8 T gRI?

(A) Pressure constant in horizontal plane only | PHad aﬁlﬁ ad A adld fRRRI®

(B) Pressure decreases below the depth of free surface | Hdd Hdge ﬁ‘l'é%lé%

CIERCICE 2 RGN

(C) Pressure increases below the depth of free surface | Hdd Hdg ﬁ‘lﬁ%lé%
EIEETICEEG I

(D) Pressure constant in all point | Hlﬁﬁg\’rﬁmm@ﬁ

Correct Answer : D

(8). What is the minimum and maximum values of the correct pressure in an
ordinary commercial bourdon gauge has a scale of 0 psi to 250 psi and accuracy of

+1% of span when the gauge reads 175 psi? | meaﬁﬂﬁﬁ
TE! a1 BT ATH 3R Sfeedd A 31 §, THHT UHMT 0 psi T 250 psi § 3R
SIE T 175 psi Ul & dl +1% W B} Iidbdl gidl 872

(A) 175to 176 psi

(B) 172.5to 177.5 psi



(C) 176.5to 178.5 psi
(D) 179 to 180 psi

Correct Answer : B

(9). Which of the following is a static characteristics of instruments? | dXcf q-IB\‘VE'Q

URR AT H 9 W Hal 1Ud g2
(A) Low points | l Oigc

(B) Mid points | TS Uise

(C) High points | BT3 UTsC

(D) Break points | i UISC

Correct Answer : C

(10). Which part of bourdon tube pressure gauge is in direct contact with

pressure? | S8 ¢ URR IS H1 DI AT HFT GaTd & A1 D A G2
(A) Open end of the tube | qqmgmﬁm

(B) Scaled end of the tube | &Jd DI hes RRT
(C) Dial assembly | ST ARSI
(D) Indicator assembly | 3'%%3? Sl

Correct Answer : A

(11). What is the span of a pressure instrument when calibrated from 100 to 600

psi? | 100 I 600 psiwmmaﬁwwiﬁgﬂ?ﬁ&mﬁw@?ﬁ%
(A) 600
(B) 100



(C) 500
(D) 400

Correct Answer : C

(12). How to maintain after using gauges in a hazardous liquid? | ddX -l dr] H

o BT SUINT B & §1¢ IGh | AT B H?

(A) Store them in a container | \3% U HRHA TR B

(B) Immerse in solvent | PHIBED f[{_;'\d\l %{

(C) Clean them as specified | ﬁﬁ@% FUH \3% O P
(D) Discard them | I NS

Correct Answer : C

(13). How many strain gauge are to be installed for the measurement of

displacement? | TARITTA &1 HTU & [T foba I TS @¥ITT ST 1@ T2
(A) One | U

(B) Four | IR

(C) Two | al

(D) Three | A

Correct Answer : B

(14). Activities performed on equipment based on a set time interval is called... |

T YT U T & YR TR IYHUN R &1 TS AT deard o
(A) preventive maintenance | fdR® TEard

(B) protective maintenance | JR&THD IWRUId



(C) periodic maintenance | fAfEd 3faRTd IR G@HId
(D) cleaning maintenance | mw

Correct Answer : C

(15). Which advantage is making absolute pressure instrument? | qvfaaﬁwaq

& AHg?
(A) Greater accuracy | 3Y® T 3fh Tetbdr

(B) Eliminates errors by barometric variation | SRIHTeR ﬁfﬂwmaﬁu‘rﬁ
RIAT]

(C) True process conditions | wmﬁ@ﬁ
(D) Safety than gauge pressure | ﬂﬁﬂﬁﬁﬁﬁ?&ﬂ

Correct Answer : B

(16). Which is the possible source of error pressure transmitter installation? | ﬁ%

A9 TIRIHTER RITTHT BT HHTAT FId DI 1 82
(A) Friction loss | T80T BT

(B) Hysteresis loss | fexe T g1

(C) Copper loss | 19 814

(D) Iron loss | @Ig BT

Correct Answer : A

(17). What is the use of pulsation dampener? | WWWWW%?
(A) To protect measuring instrument | WW@@T&H%W
(B) To develop accuracy | Tl dT fasRid &1



(C) Toincrease sensitivity | mm

(D) To maintain constant pressure | R Gdld & Xd-]

Correct Answer : A

(18). Which material is used in pressure gauge for elasticity of pressure sensing

element? | WWW@W%WWWWﬁWWW
SUTNT f T STTeT 82

(A) Bellow | foreen

(B) Diaphragm | STATSHTH
(C) strip | fC

(D) Bourdon tube | S189 &

Correct Answer : C

(19). What is the use of diaphragm seal? | W%WWW%’P
(A) To protect pressure sensor | W@Wﬁﬁ?%%ﬁﬂ

(B) To protect fluid | WWﬁﬁﬁ?ﬁT%%’Q

(C) To accurate measurement | WW%%’Q

(D) To improve sensitivity | {-iald"l-?‘l\lﬂdlﬁﬁiﬂ?w$m

Correct Answer : A

(20). Which material is fitted with diaphragm seal? | ST T & 1Y DI I
AU SUANT gidl &2

(A) Bellows | Sdl
(B) Bourdon tube | WE@:&'



(C) Flanges | TSl
(D) Hair spring | %'CIT@"T

Correct Answer : C



